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Question | In the context of government of India budgets which type of deficit is suggested by the
formula. Total receipts — Total expenditure
HRATEAT HIHRoTHET THUT HGHS - THUT G T FATAN HI0Tcl JC
gaidell STd?
A Fiscal deficit
TSI de
B Revenue deficit
AEGeN qe
C Primary deficit
YRS e
D Budget deficit
IETSTITHIT T
Answer D
Id 2
Question | "Principle of Maximum social Advantage' was advocated by -----
HAgcdd ATHAIGIS ATHTT dcd - qieAT HATSel
A Prof.Pigu
or. o9y
B Dr. Dalton
ST STecel
C Adam Smith
3sH oAy
D Ricardo
Renrsf
Answer B
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Question | 'Shifting of tax' is seen in case of ------ taxes.
AL HPAUT G - T YhRAT FAAEY TS A
A Local
Fifash T
B Direct
TcgaT h
C Indirect
HAITET hT
D International
TARASET X
Answer C
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Question | Micro Unit Development and Unit Refinance Agency (MUDRA) bank were launched by
Prime Minister on -------
geA guce G g Yefded  3HEIOT (HgT) Sob TATTATAT g - AT
feaelr g% e,
A 14" November , 2015
?Y FAlcgal 029
B 8™ April 2015
¢ UM R0%9
C 14™ April 2015
¢y TMdeT Q089
D 2™ October 2015
R JMMFCIST R0%Y
Answer B
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Question | Malthusian population theory says that population increases by -------
ATeUT Tl NhIEAT G, AhTEAT - Foflel dled 378 Fgeo 36,
A Mathematical
aTfoTer
B Geometrical
GGG
C Natural
aafieh
D None of these
alrer Yt ATy
Answer B
Id 6
Question | Price line is called as ----------
e e 3 8gr - FEUTAT
A Parallel line
FHAT I
B Contract line
qaeh 3T
C Budget line
TSI I
D None of the above

glier YT HTETET AATET

Answer

C
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Question |Index numbers are expressed in ------
foderienr @relerdidhr hemedr @R Fedeard oIl Adld ?
A Combination
e
B Ratio
YHTOT
C Squares
Gl
D Percentages
ETTIN
Answer D
Id 8
Question | If the commodities are perfect complements of each other the corresponding indifference
curves would be -------
SR 2l TE] UHHSTAT RER RCeh AT R ATHAR TEEIAT T -
38T
A L shaped straight lines
L 3R 85 39T
B Positively sloping straight lines
el 3ARTEN b I
C Negative sloping curves
RKUT 3ARMT dsh
D Negatively sloping straight lines

FHOT AR b ST

Answer

A
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Question | When a monopolist is in the position to sell each separate unit of a commodity at a
different price it is the case of ---- price discrimination.
SIegT HFAGR TET Tedeh 91 et fharcha fag erepdl degr car e
------ :Ho«uaﬁa 3 FEUTAT.
A General
FSHTHROT
B Third degree
fag=ar ofrar
C First degree
qiged ofrar
D Second degree
ga=ar Ao
Answer C
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Question | Who was written 'An Essay on Principles of Population ' in 1798-----------
20R¢ HEY " An Essay on Principles of Population' & 3 ------ it farfger.
A Robinson
SuCCR)
B Adam Smith
3sH TEAY
C Thomas Malthus
UIAG ATeUH
D Canon
holel
Answer C
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Question | ------------- is the national level board functioning in the field of marketing of milk.
------------- g1 TSI TR g faquouTel U HEAT 37T
A NDDB
B ARCI
C FDC
D RRB
Answer A
Id 12
Question | In descriptive statistics we study -------
JUIATcHS AMTEIRHALT  3TIUT WTeilel Jehl HIOTAT JTEAT 36T Al?
A Research planning
gy ST
B The description of decision making tricks
fav afseda gute
C The methods of organizing , displaying and describing data
D How to describe the probability distribution
GHTEY fIA0T AR ofard
Answer C
Id 13
Question | The 'Agmark’ Seal for the farm product is to ensure ---------
Al ScUTEATATS ng----mﬁmmmm
A Grading and standardization
gdanT 3T FHGSAT
B Long life of product
3cUTGATAT GrUdIs ez aum
C Reasonable price
e fhAd
D Good packaging
3cdH Yehfoiar
Answer A
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Question | Taxation, Public Borrowing and Public Expenditure by Government are the measures of
------- policy.
grdsifaieh T, ol 0T TI & THRTAT - RO AT 3Ted.
A Industrial
iefaes
B Fiscal
TSR
C Monetary
Aifeew
D Credit
qd
Answer B
Id 15
Question |Baumol's postulation of oligopolistic firm's name of sales revenue maximization is subject
(o J—
HeUSTATORRT HEIDT fAhT 3cUeed AGcAHIRIUTAT SIHeTal TR - ofr
afed 3me.
A Maximum loss constraint
FAgcdH drer Adter
B Minimum loss constraint
frATeT Ater Adter
C Minimum profit constraint
fohaTeT AwT Fater
D Maximum profit constraint

AGcdH T%T HITET

Answer

C
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Question | The abbreviation CRR suggests:-------------
CRR ¥ qOT & FEAT -----memv
A Central Reserve Rules
ogol ReTes Tod
B Cash Reserve Ratio
wer Refeg ¥
C Central reserve Ratio
ogol Rered
D Combined Reserve Rules
Frases  Releg dod
Answer B
Id 17
Question | The producer shall not produce in the third stage of production because in that stage
3cUIGeh Scaearedl faa=ar Toareaed 3cUigs] hid silel hRUT T SoedTd
A The marginal product is falling
AT IcUTesT 3ad 3ad
B The total product is negative
THUT JcUlesT 30 31Hd
C The marginal product is negative
WA 3cqesT 30T 3/ ad
D The average product is stagnant
T 3cUTesT FHd 3
Answer C
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Question | Risk — return trade off plays an important role in whose theory of money demand ?
GrolTeTdeh! shiomear JaT AR G SE#HT WRdar FAHeT Hgedrl $fAeT
Jorad?

A Cambridge money demand theory
HiFserar  daT ARl fAgid

B Tobin's Portfolio choice
cldleTel Jr@rearg foas

C Friedman's restated quantity theory
WrsFeT Frer g aR@mr g

D Baumol's inventory theoretic choice
dizAe It grer dgifds  fdas

Answer B

Id 19

Question | A public good is -------
R IE I EC GRS e [ —

A Paid for by a government
ST fhAd @R ad

B A good that the public must pay for
SATATET ARl fohdAd gaTaT omaTe

C Non — rival in consumption
Sarar 39T AR-gfaeawt radr

D More costly than a private good

Trofal aEQIETT HEWET 318d

Answer

C
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Question | Monopoly power refers to the :
THITARR AFAl FEUTS -------
A Restraints imposed on prices of productions of each other
UhHBTAT UG ThAdIaY dieoedl  HIATET
B Restraints imposed by the competitors on each other
TAYFA  THHRBEGY cAlGelall a8t
C Restraints imposed over competitors by the price maker
D Restraints imposed on the quantity of production by each other
UHAFRTAT 3cUIGel 191 HEIAX dligeled]  HAGT
Answer C
Id 21
Question | The book “Value and Capital” is authored by:
“Tgog 318 Shided "§ JEh - A ffger 318
A Joan Robinson
B Tapas Majumdar
dydd Jj, 03 HGIR
C R.G.D Allen
AR S S T
D J.R.Hicks
o AR fgerd
Answer D
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Question |Reduction in consumer's welfare as a result of tax is referred to :-----

FHS ITHIFATIT FeAVINT TS eI AT ----- FgoTdTd.
A Incidence of tax
I AT
B Equity in taxation
FIYTATT AT
C Dead weight loss
AAAR &7
D Efficiency in taxation

FITATIIST SHIITHAT

Answer C

Id 23

Question | In Say's law of market total supply is = --------------
T FSRUSTT FATHAGTHAR THUT GBS = -

A Total export
THoT AT

B Agricultural production
AT IcUreA

C Industrial production
e Seureat

D Total demand
THUT HETOH

Answer D




Id 24

Question | The aggregate supply of land is -------

a

A Relatively elastic
dolelel Safash 3raar
B Absolutely elastic
quT eade el
C Absolutely inelastic
quT 3rcfadieh 3 Edr
D More than unit elastic

TSHUETT SITEd oadiieh 37Edr

Answer C

Id 25

Question | Opportunity costs are also known as -----------

dofeuss @I g IT ATAIE! NdW SATATd ---mmmmmmmm

A External costs
I T

B Spill-over costs
HigqouT @I

C Money costs
ol T

D Alternative costs
R @9

Answer D
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Question |EXIM Bank is ---------
EXIM & ---- 37Tg.
A Investment institution
bk SO
B Regulatory financial body
e fadsT aomdy gedr
C Private sector commercial bank
Gretef & ATl SRy do
D Specialized financial institution
faaiere faccha aea
Answer D
Id 27
Question | Indian food Corporation were constituted in ------
HRAT 3o AGIHSHRT TATTAT --- AT ST STl
A 1960
8R¢€0
B 1965
9R¢EY
C 1966
9REE
D 1969
9RER
Answer B
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Question |Regional Rural Banks were established in -------

g i T TRl TTIST ----- g7 auf rel.

A 1975
¢RLY
B 1980
§Q¢o
C 1982
gR¢ER
D 1990
¢QRo

Answer A

Id 29
Question | Blue revolution is related to -------------
Arereridr TRl gefaa 3 e
A Blue water
ATl STol
B Oil
REl
C Space research
A G
D Fisheries
AH <Iqdrg

Answer D
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Question |NAFED is ------- level federation in cooperative marketing.
TehNT faqueTciel ATHS - A7 ITadadlal 9 3Te.
A District
et
B State
JT
C National
IS
D International
ARSI
Answer C
Id 31
Question | “PURA” model propounded by --------------
“QT " AfAATT oo TlsAr ASe.
A Dr.D.R.Gadgil
ST 1. 3R asefie
B Dadabhai Nouroji
SIETHTS RIS
C Dr. Manmohan Sing
gf HAAAGT T
D Dr. A.P.J. Abdul Kalam

ST. T. . 3. 37eqeT ol

Answer

D
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Question | In ----- market producer himself is price marker.
--- STIRUSA 3cUTGaT 8T Tad: T TohadehdT 31ar.
A Duopoly
CERIBEITS
B Perfect competition
quT FqET
C Monopoly
HFAGRT
D None of the above
el el IEIET ATET
Answer C
Id 33
Question | The Harrod-Domar growth model suggests that growth is -----------
gUIs - SIER 37T gl UTTATATER gEam - Heer 3T,
A Directly related to savings and capital / output ratio
Sl d HISTS /3cUiGed JATUMET Ycgat
B Directly related to savings and inversely related to the capital / output ratio
gadell 9 0T sigae /Icurg gATomeT faveg
C Directly related to capital / output ratio and inversely related to savings
TS / 3caiee gAToml A 3o Fadel faseg
D Indirectly related to savings and capital / output ratio

SAdr g Hsad /3cUTGeT AT 39cTey

Answer

B
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Question | ---------- is the oldest stock exchange in India
------- € RISl Fald S Tl Taraesl 3Te.
A DSE
& TE.3S
B NSE
U UH.S
C ASE
T.Ud.§
D BSE
& Ta.d
Answer D
Id 35
Question | Product differentiation is a characteristic of -------------
aEqie § IeIRYSY 3fAseT 3118,
A Duopoly
CERIBEDTS
B Monopolistic competition
HFdGRIgeFc TqE
C Monopoly
HAFAGRY
D None of the above
alter YT FIEIET AT
Answer B
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Question | Risk bearing theory of profit is put forth by -----------
STFITAT SRl TcaUdT  Siaddl TAgId ------ Al HATSelT
A Prof. Knight
qT. AT
B Adam smith
sH TEAy
C Prof. Hawley
T . glel
D None of the above
afe kT FIEEY AR
Answer C
Id 37
Question | If the commodities are perfect substitutes, the corresponding indifference curves would be
SR GleT & TehHhi=T U0l GATT 3ol o ATER Tyl s -
38T
A L-shaped straight lines
L AR T 7
B Negatively sloping curves
KUT 3dRTET déh
C Positively sloping straight lines
el AR T I
D Negatively sloping straight lines

FHOT AR TS 9T

Answer

D
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Question | Central focal point of Keynesian Employment theory is ------------ .
Feddl  USHRIavTeh fAGArT X - aT 38,
A Demand of Industrial Goods
M@ Seargaer AR
B Effective Demand
JaATAT A0
C Agricultural Development
AT faerre
D None of the above
afe kT FIEEY AR
Answer B
Id 39
Question | Trade cycle are controlled by -------------
IS IREGE D I T L E Ly g— o el SATd.
A Laws
CAR AN
B Agricultural Policy
Idfawges YT
C Fiscal Policy
TSR ERoT
D Development Policy
faehrer eRor
Answer C
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Question | The concept of disinvestment was originally introduced by -------------
e & HehedeT TUH - RICi IECEC )
A Myrdal G
fAster S
B Friedaman M
ISSHT TH
C Kaldor N
$hesR Ted
D Keynes J.M
Hed of TH
Answer D
Id 41
Question | The concept of organic composition of capital is given by --------------
. B S T
A Adam Smith
A fERy
B Marshall
AT
C J.S Mill
o T fAd
D Karl Marx
el HTFY
Answer D
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Question |In ------ budget, income of the Government is less than the expenditure
------ JESTIARIA TIHRT 3cee] TATUETT HAT 3.
A Deficit
qérear
B Balanced
el
C Surplus
fRrerehT
D None of the above

gl YT FIETET AT

Answer A

Id 43
Question | Impact and incidence of ------ tax falls on the same person.
----- AT HUUTT T HRAR ThA STFda ggdr
A Regressive
EIGCIE)
B Direct
Jcgat
C Indirect
3ucaat
D Sales
fashT

Answer B
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Question | The net collection of national small saving fund is invested in ------
USSR 3769 od Tl Heas AgHer - ALY (Aol STl
A Share capital
HATIT ATSIATd
B Defense
TRETOTTHTST
C Heavy industries
3dSTS 3GIARMHEY
D Central and state government securities
&g 3nfoT Toarear Sfae Fed
Answer D
Id 45
Question | The shape of Long run average cost curve (LAC) is ------
A L-shaped
SIS L 3CITERARET
B U-shaped
SISl U 3AERIERET
C Z-shaped
SN Z TSR ET
D V-shaped
SISV EIERERET
Answer B




Id

46

Question | The theory of Unlimited Supply of Labor is firstly introduced by --------
A Myrdal
fAsta
B Adam Smith
sH TEAy
C Ricardo
fReprst
D Lewis
CICE:]
Answer D
Id 47
Question | When the population growth rate of an economy becomes greater than the achievable
economic growth rate, it is known as -------
SegT eTaedcdlel Jedlal &1 3IUeletl Jregad Uall SIed e, degl i -
garerel Sird.
A Population Cross
cllehded] Sqeal
B Population Exposition
AHaET TaEhIe
C Population Trap
cllended] diYol
D Population Crisis
R EET 3RS
Answer C
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Question | One limitation of absorption approach to balance of payments adjustment is :------
SIIgRAlAT  3792MNYUT TSEhIAT Teh HATGT FgUTol AT ------ g8
A It assume a nominal devaluation of currency
AT TelATd ATHAT 3dHedeT I Ul 37Te.
B It assume a Constant income
fR 3ot T eRe S
C It assumes a Constant terms of trade
SaReredt RN 3 AT R IR
D It assumes a Constant aggregate expenditure
R Teor @ TIfed e e
Answer C
Id 49
Question |FRBM is abbreviation of ----
FRBM ¥ qUT &9
A Fiscal representation and Budget Management
el NG 38 d9c HATHC
B Fiscal Responsibility and Budget Management
fherar Redif-afafodl 33 soic Aooie
C Fiscal Regulation and Budget Management
ftheehel WeIT 375 Sole Helotde
D Fiscal Revolution and Budget Management

el Reglogere 3T g9l HaoHC

Answer

B
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Question | The existing share of company are traded in the -------------
HUATT <Te] HHAATEMTE WG - fIhT - IT IR e,
A Primary market
BIBIEEOCI 10y
B New issues market
sTdle] AT SR
C Secondary market
gu’—_*’:l?:l' CISIRS
D Tertiary market
GRIRECIEINY
Answer C




